MATH 102 – Guided Reading Questions for Section 1.3

1. List four words that imply equality.

2. Which is the correct representation of “the quotient of z and 9?”  Circle your hypothesis and explain your answer.
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3. True or false:  Since –50 is to the left of –40 on the number line, then –50 < -40.

4. Insert the symbol < or > to make each statement true.

a.
-1          2

b.
8           -5

c.
2.50       2.05

d. -3 ¾       -3 ½

5. The additive identity is the number __________

The multiplicative identity is the number ________

6. Another name for additive inverse is ____________________

Another name for multiplicative inverse is ____________________

7. Write the additive inverse of –5.  __________

Write the multiplicative inverse of 
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.  __________

8. The commutative properties state that the ______________in which two real numbers are added or multiplied does not affect their sum or product.

9. The associative properties state that ______________ numbers that are added or multiplied does not affect their sum or product.

10. Use the distributive property to simplify:

a. 5(3x + y) = _____________

b. -2(a – 2b) = ______________

11. Fill in the blank with an algebraic expression to complete the equation.

a. A vending machine contains k dimes.  Write an expression for the value of the dimes, in terms of k.

value of one dime
x 
number of dimes
 = total value of k dimes

   ____________     x         ____________    =     _____________

b. The cost of n candy bars if each candy bar costs $0.75.

cost of one candy bar    x  number of candy bars = total cost of n candy bars

   ____________     x         ____________         =     _____________

c. Sales tax on a purchase of x dollars at Polaris Fashion Place if the sales tax rate in Delaware County is 6%.

sales tax rate
x 
purchase price
 = 
amount of sales tax

   ____________     x         ____________         =     _____________

12. What are “like terms”?

13. Simplify each expression.

a. -3 + 2(4x – 1)

b. 2.5(3p – 1) – 5(1.5 – 2p)
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